01-20-0054 Olkiihler, [DC9A EMS]



dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben


01-20-0054 Olkiihler, [DC9A EMS]

Seriennummer EN 6357771-6368627 SSS
Ziff. | Bauteilnum Hinweis A| Bezeichnung
2 1484765 2 | Dichtung
3 1484766 2 | Dichtung
4 812527 [ M8x70 4 | Bundschraube
5 nss 1]
6 1345682 | ¢ 25 mm 2 | eKernstopfen
7 372098 1 | *Abdeckung
8 1391726 1 [ sDichtung
9 812502 [ M6x16 3 | sBundschraube
10 259102 1| *Kolben
11 302473 1| *Feder
12 812376 | M22x1.5x9 1 | *Gewindestopfen
13 812418 | ¢ 22,2x26,9x1,5 1 | *Dichtung
14 1853404 1 | *Anschluss
15 1350362 1 | Schutzkappe
16 813198 | o 12 M16x1,5x31,5 1| «Gerades
Anschlussstiick
17 2279229 1373793 ¢ 16 mm, green 1 [ sDichtung
18 2279232 1374839 ¢ 22 mm 1 | Dichtung
20 812521 | M8x40 10| Bundschraube



dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben

dszcz
Hervorheben


